
Mount on the wall.

Place flat on the floor or on an angle.

Lean against the wall.

Tape to the wall or furniture.

WAYS TO USE

Portable Scratching Board

User Guide

SVD.PET is a registered trademark of Silicon Valley 
Devices LLC.  @2019 Silicon Valley Devices LLC.
Palo Alto CA 94306
www.SVD.PET
Contact us: support@svd.pet

Scan the code to open
the User Guide online



PARTS

7

8

10

9

11

14

2
1

4

3

5

6

12

13

1. Top board
2. Coil toy
3. Hanging toy
4. Long screws x2 (4cm Long)
5. Short screws x2 (2.5cm Long)
6. Woven sisal mat
7. Buit-in brush for self-grooming
8. Floor stand
9. Bottom board
10. Connector for top board and bottom board
11. Double-sided tapes X 3
12. Connector screws x 4
13. Wall angle support
14. Anti-slip pads x 4

Long screws
X 2 (#4)

Short screws
X 2 (#5)

Connector screws
X 4 (#12)

1



2

Pull the rope through the coil toy and 
insert the spring into the hole.

Choose a toy to attached to the board.

Parts you need:

Or, tie the hanging toy to the rope.

ATTACHING A TOY

Please refer to 
the parts section.

BOARD ASSEMBLY

2. Insert the sisal mat (#6) on the top of the 
board. Press and smooth out the mat. 

1. Align the top and bottom boards. Attach the 
connector (#10). Secure with the connector 
screws (#12). 

Top board (#1); Bottom borad (#9); Woven sisal mat (#6) 
Connector for top board and bottom board (#10)
Connector screws x 4 (#12) 

Parts you need:
Please refer to 
the parts section.

Coil toy (#2); Hanging toy (#3)



1. Tape to the wall or furniture

3

2. Place on the floor

INSTALLATION GUIDE

1. Put the 3 double-sided tape on the back of the 
board.

2. Tape the board to the desired place.

2

Parts you need:
Please refer to 
the parts section.

Double-sided tapes x 3 (#11)

1. Applied the 4 anti-slip pads to the back 
four corners of the board.

2. Place the board flat on the floor; or, place the 
board on the floor with an angle by opening-up 
the floor stand. 

1

Parts you need:
Please refer to 
the parts section.

Anti-slip pads x 4 (#14)



4

INSTALLATION GUIDE

6. Place the mat back on 
the board. Insert the 
spring toy or the 
hanging toy.

3. Mount on the wall with screws

1. Use the yellow ribbon to 
help you to grab the edge of 
the sisal mat, then peel the 
mat off the board.

2. Place the board at the 
desired location. Use a pen 
to mark the mounting holes.

3. Drill holes in the center 
of the pen markings with 
a 15/64 (6mm) drill bit.

4. Insert the drywall anchors 
into the drilled holes.

5. Line up the mounting holes 
on the board with the 
anchors. Insert and fasten 
the short screws(#5) into the 
anchors.

1 2

4 5 6

Parts you need:
Please refer to 
the parts section.

Short screws and anchors x2 (screw lenght: 2.5cm Long) (#5)

3



4. Lean against the wall with screws

1. Lean the board on the wall at 
the desired location. Place the 
wall angle support part(#13) 
16.5 inches (42cm) from the 
floor. Use a pen to mark the 
mounting holes.

2. Drill holes in the center of 
the pen markings with a 
15/64 (6mm) drill bit Insert 
the drywall anchors in the 
drilled holes.

3. Use the yellow ribbon 
to help you to grab the 
edge of the sisal mat, 
then peel the mat off 
the board.

4. Insert the wall angle 
support on the back of 
the board.

5. Line up the mounting holes 
on the board with the 
anchors. Insert and fasten 
the long screws(#4) into the 
anchors.

6. Place the mat back on 
the board. Insert the 
spring toy or the 
hanging toy.

16.5”

1 2 3

4 5 6

Long screws and anchors x2 (screw lenght: 4cm Long) (#4)
Parts you need:
Please refer to 
the parts section.

5

INSTALLATION GUIDE


